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graph exactly once. An Euler curcuit is an Euler tour that starts and ends at the
e same vertex.
Function Eulerian is to test if there exists an Euler tour or an Euler curcuit in a
given connected Graph. The array Graph->6 stores the adjacency matrix of the
HE undirected graph, and Meraph is defined as the following:

typedef struct GNode *PtrToGNode;
struct GNode{
int Nv; /% number of vertices */
int Ne; /% number of edges */
int G[MaxVertexNum][MaxVertexNum]; /* adjacency matrix x/
IFs
typedef PtrToGNode MGraph;

Please fill in the blanks.

Type Eulerian( MGraph Graph ) A T Ll
{

int count_odd, degree;

Vertex i, j;

Type ret;

count_odd = 0;

for (i=0; i<Graph->Nv; i++) {
degree = 0;
for (j=0; j<Graph->Nv; j++) {

if(Graph->6[1i][j]1!=0) degree++ 39

h
if (degree%2 == 1) {
count_odd++;

}
if (count_odd > 2) break;

S

if (count_odd == 0) {
ret = EulerCurcuit;

}

else if ( count_odd==2 394
ret = EulerTour;

I

else {
ret = NotEulerian;

S
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5-1-1 4#1 6 Hashing and rehashing E&E T B IWIXFE

Let's consider creating a basic hashing program for a list of nonnegative numbers
with rehashing. We'll use linear probing (f(i) = i) to handle collisions. Moreover, re-
hashing will occur when the table reaches half capacity (capacity > 0.5).

typedef struct {
int *table;
int size;
int count;
} HashTable;
void init(HashTable *ht, int size) {
ht->size = size;
ht->table = (int*)malloc(sizeof(int) * size);
ht->count = 0;
for (int 1 = 0; i < size; i++) {
ht->table[i] = -1;
¥
}
void rehash(HashTable *ht);
void insert(HashTable *xht, int key) {

if ( ht->count/ht->size>0.5 39 {

rehash(ht);

}
int index = hash_function(key, ht->size);
while (ht->table[index] != -1) {

index = index+1 39 ;)

ht->table[index] = key;
ht->count++;
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